= A
N = 0 &8 AFH Y & A AN
20158 =& 1 3 LUFAH QATAME=R ~NES
az=1S
FOHMEH2I (A 215)
ZOIME X 8 SlHH)
2 A .2 () - HEMNY - BHES 0] AFoH ) [Elio 2
ARE 186,455 184,796 1,659
ZoMEH2G(A21S) 145,815 144,156 1,659
OIS 63,589 63,930 A 341
ploaey 6,049 6,390 A 341
201 2Bt 6,049 6,390 A 341
01 AF2 22| H 799 1,140 A 341
Oglag g 2tz AL oIy 258,5002! 259 600 A 341
Harzte 47,126 45,126 2,000
H ALz 2| 43,906 41,906 2,000
401 AlEHIZ 20 14,100 12,100 2,000
01 Al&HI 14,100 12,100 2,000
Os F0I4dH | Xt A XS A
2,000,000 2,000 0 2,000
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> A
A & 0l & AF 2 E A A
2015HE =2 13 Lutsl SRR ~ MES
SN ABes
M FOMH2Y(NB2S)

Sel: FolMENd EEH-E)
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Hwsz
=2 349,736 348,892 844
= HEHSY (M R2S) 279,589 280,089 A 500

=oMEXH 112,480 112,980 A 500

pesey 9,260 9,760 A 500
201 2Bt Ay 9,260 9,760 A 500
01 At 2H2lH| 860 1,360 A 500
Oplaga AEHAl ol 500,0002! 500 1,000 A 500
HH2AAY (A B2S) 70,147 68,803 1,344
ol 2 ol 26,947 25,603 1,344
ol 29| 26,947 25,603 1,344
101 Q121 bl 26,947 25,603 1,344
03 R HA2ZRES 26,947 25,603 1,344
OBIRQIOHY RIHA2Z X 22| 24,475 23,254 1,221
-3 1,506, 1209 12« 12 18,074 17,756 318

— Rty 56,7209 +1% + 192 1,078 1,058 20

— AN2QI2R4EY 10,6402+ 1 *15A 2+ 122 1,916 1,880 36

o E-E ML 753,060% +23] 1,507 1,480 27
—tE4Y 60,0002 * 12 720 0 720

— X8 HMIHAL 50,0008 23] 100 0 100
OBIRQIOHY RIHA2ZR 282 2,472 2,349 123
—=oleiz 24,475,0002 *45/1,000 1,102 1,047 55

— AL 24,475,000 ¥29/1,000 710 675 35
—CFI2YBH  710,0008 *65.5/1,000 47 45 2

- nE2s 24,475,0002 *15/1,000 368 349 19

— M 24,475,000 *10/1,000 245 233 12
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N & o & AF & H Al A
20158 & =& 1 3 U3 AIMREZ ~UES
SH: 43S
. FOUMHSY(MR3S)
ol FOIME R EERED
SA - BAEN) - NRAY - LS 0l &F 24 o1& o HRE2
& =33 199,007 194,627 4,380
FUHH2 Y (M23S) 159,807 165,427 4,380
UM 63,538 62,338 1,200
QA=A 9,048 7,848 1,200
405 THakH S| 1,200 0 1,200
01 AL EFH S 1,200 0 1,200
Oglaa ot 2 1,200, 000& 1,200 0 1,200
FOUXXMEH2H 21,480 19,880 1,600
FOXXEH2H 17,880 16,280 1,600
405 THobH S| 1,600 0 1,600
01 AL =S FH S| 1,600 0 1,600
O3log guzdy 7Y 1,600, 000& 1,600 0 1,600
T &k2te| 74,789 73,209 1,580
At 2el 53,059 51,479 1,580
401 Al I 28I 9,543 7,963 1,580
01 A& HI 9,543 7,963 1,580
O3l & BEE S AL 1,580, 000& 1,580 0 1,580
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Ab & & A
0158 £ 135 LLEN AGASR ~ ME
SN 0128
BE: FOIMESY(H0I28
el FoMEE (29l & 2)
E - G2 (3H) - NRAY - BAES 0l &k o4 Hl DS 2
20/2 177,116 24,700
2 4,120 4,120
Al 172,996 20,580
FOMESY(R0I2S) 137,916 24,700
2 4,120 4,120
Al 133,796 20,580
MR 62,320 A600
ANS 3,900 A600
201 Ler2 ] 3,900 A600
01 AR 22l t] 300 600
ODIRLS ABMHA oI & 0 A600
FOTME S 40,880 10,300
2 4,120 4,120
Al 36.760 6.180
=S SHESY 10,300 0,300
2 4,120 4,120
Al 6.180 6.180
201 Ler2 | 0,300 10,300
2 4,120 4,120
Al 6.180 6.180
03 A2 10,300 10,300
O=sSUH 2 10,300, 0002 10,300 0,300
2 4,120 4,120
Al 6.180 6.180
el 34,716 15,000
& Azl 32,006 15,000
401 Al I L S O 8,001 15,000
01 Al&H| 8,001 15,000
OFA (P 15,000,0002! 15,000 15,000
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| & A & B A
20158 & =& 1 3 U3 AIMREZ ~UES
L2ALS
FUHHRIY(AMS)
ZOME R 2 ERA)
SN EE B (BH) - HRAY - BES 0l &k o4 2
L ALS 191,966 ,556 59,410
FUHH2 Y (AMES) 155,326 916 59,410
UM 45,090 ,680 A 590
QA=A 4,770 ,360 A 590
201 Let24dy] 4,770 , 360 A 590
01 At 2teltl 570 , 160 A 590
Olags ASHA oY 210,000 210 800 A 590
T &k2t 2| 93,696 ,696 60,000
A 2te] 90,976 ,976 60,000
401 AIEHIZ 28I 69,200 ,200 60,000
01 A& Bl 69,200 ,200 60,000
OXIGtAIE EHI 60,000, 000& 60,000 0 60,000
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> A
A & 0l & AF 2 E A A
2015HE £ 1 8 YWEH YIMRR ~ MES
SH: %S
M ZOIME2Y(AUE)

Sol: FOIMEBXH CERED
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Hwsz
S 234,544 234,157 387
ZUMEHRY(AHE) 170,995 171,335 340

FoMERR 85,580 85,920 340
QA=A 8,510 8,850 A 340

201 L2yl 6,480 6,820 340
01 Ak 22l 1,080 1,420 340
ORIRST AT A4 QAN 360,000 360 700 340
BHSAAH (AUHE) 63,549 62,822 727
012 2 gyl 26,909 26, 182 727
oz 2| 26,909 26, 182 727
101 1218 26,909 26, 182 727
EESPEEESIEES 26,909 26, 182 727
OBIRQIGHY RIIHAXDZT oA Y| 24,449 23,780 669
-Je2az 1,516,680 *1% « 122 18,201 18,130 71

—oixt g 57,1202 *12 202 1,143 1,138 5
—NZADRLY 10,7102 1Y #15A1 24128 1,928 1,921 7

— YR EIHYI 7583402 %23 1,517 1,511 6

— =y 40,0002 *12 128 480 0 480
—FEa MK A 50,0002 1% +23] 100 0 100
ORI RN AN22R 282 2,460 2,402 58

— =003 24,349,000 *45/1,000 1,096 1,071 25

— U 24,349,000 ¥29/1,000 707 690 17
—LQFIIQYRHE 707,008 %65.5/1,000 47 46 1

- 182y 24,349,000 *15/1,000 366 357 9

— AT 24,349,000 ¥10/1,000 244 238 6
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= A
N = 0 &8 AFH Y & A AN
20158 =& 1 3 LUFAH QATAME=R ~NES
BN =S
HM: Z=0HEHSIA(ES)
Chel FoME (el @e)
2 A .2 () - HEMNY - BHES 0] AFoH Iy H HnE2
== 225,800 216,000 9,800
2 10,100 0 10,100
Al 215,700 216,000 A 300
ZOHESA(ES) 180,040 170,240 9,800
2 10,100 0 10,100
Al 169,940 170,240 A 300
FOIMEX| 2 94,900 85,100 9,800
2 10,100 0 10,100
Al 84,800 85,100 A 300
pleaey 11,590 11,890 A 300
201 LBt 9,560 9,860 A 300
01 AF2 22| H 860 1,160 A 300
ooz 2 HA oy 500,0002 500 800 A 300
DIDE 45 AYAIY 10,100 0 10, 100
2 10,100 0 10, 100
201 Y| 4,600 0 4,600
2 4,600 0 4,600
01 AFR 22| H 4,600 0 4,600
Os EXE€AM E2X(B2E) M
1,000,000 1,000 0 1,000
2 1,000 0 1,000
O sXNEg2d 22 Mg M=
1,600,000 1,600 0 1,600
2 1,600 0 1,600
OMASE IE 22 34 Xy
2,000,000& 2,000 0 2,000
=2 2,000 0 2,000
206 M2l 3,280 0 3,280
= 3,280 0 3,280
01 24l 3,280 0 3,280
Os SXNEAM XHMAY MZ8Hl 3,280,000 3,280 0 3,280
=2 3,280 0 3,280
301 Yt A 2,220 0 2,220
=2 2,220 0 2,220
09 #HAIAHI B A2 2,220 0 2,220
Os EXNEAM B8 ¢ 39 500,000 500 0 500
2 500 0 500
O EXEoHM Hx o 600,0002! 600 0 600
=2 600 0 600
Os SXNE2AM AMtE EOHX AHIEANS
7,000% x20% *83] 1,120 0 1,120
=2 1,120 0 1,120
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N & o & AF & H Al A
20159 =& 1 3 LBtslH QSAR= ~ MES
2H: 1S
M FUHMHRIG(B1S)

& FUMETR (chel & 9l)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
1S 230,009 226,934 3,075
FUHHRIE (B1S) 159,390 156,315 3,075

UM 105,200 106, 100 A900
QA=A 13,280 14,180 A 900

201 Let24dy] 10,880 11,780 A 900

01 At 2teltl 1,280 2,180 A 900

OQ3Lg 2ASHA ol 1,100, 000& 1,100 2,000 A 900

FOUXXMEH2H 29,460 25,485 3,975

FOXXEH2H 25,860 21,885 3,975

401 AIEHIZ 28I 3,975 0 3,975

01 A& Bl 3,975 0 3,975
OFURIIME T2 A Hie 24

30,000& *132.5m’ 3,975 0 3,975
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N = 0l & At & Ml A

P015EE £ 18 AWEH ASANSR ~ HUES
2N A4S
B FOME2Y(MS)
Sl FOIME I (B9 ®R)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
as 226,918 226,723 195
ZOMEHSE(ME) 158,939 159,378 £439
FolME @ 80,551 80,990 £439
QA=A 9,291 9,730 A 439
201 et | 9,291 9,730 ~439
01 At 2teltl 891 1,330 A 439
OoIRLZ AT A A ol 561,0002 561 1,000 ~439
HHSAAH (ME) 67,979 67,345 634
L 26,219 25,585 634
TEEEN 26,219 25,585 634
101 Q12| 26,219 25,585 634
03 RIHA2ZRES 26,219 25,585 634
OOIRIQIHY RIIHADZ R o121 | 23,823 23,723 100
— H S AtHI 50,0008 *23] 100 0 100
OoIRQIoHY RIHA22T EHE 2,39 1,862 534
- 1829 23,723,0002 15/1,000 356 36 320
— AT 23,723,0002 ¥10/1,000 238 24 214
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> A
A & 0l & AF 2 E A A
20159 £ 1 8 AW ABNRR ~ UES
2N M2S
B FOMESY(M2E)
el EOIME X CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
Nos 228,901 222,201 6,700
2 2,400 0 2,400
Al 226,501 222,201 4,300
ZOIHE 2 (425) 15,542 154,142 5,400
2 2,400 0 2,400
Al 57,142 54,142 3,000
FoMEI 87,920 83,520 A600
JETPNEE- 1,800 2,400 A600
201 YBt2 | 1,800 12,400 A600
01 AbR eIt 1,600 2,200 A600
OSIEST ASMHA o4 60,0002 600 1,200 A600
FORAME 2 31,730 25,730 6,000
2 2,400 0 2,400
Al 29,330 25,730 3,600
=S SHHEY 6,000 0 6,000
2 2,400 0 2,400
Al 3,600 0 3,600
201 YBt2 | 6,000 0 6,000
2 2,400 0 2,400
Al 3,600 0 3,600
03 #AS bl 6,000 0 6,000
o= S HE 2| 6,000,0002 6,000 0 6,000
2 2,400 0 2,400
Al 3,600 0 3,600
#H 2 A A (425) 69,359 68,059 1,300
ol 2oyl 27,419 26,119 1,300
oIz 2oyl 27,419 26,119 1,300
101 Q1248 27,419 26,119 1,300
03 RIANA2ZRE S 27,419 26,119 1,300
OSIZQIGH SIIHGFI2X 12| 25,023 23,723 1,300
— sy 10,0002 *1% *123] 1,200 0 1,200
— ZE S A 50,0002 12 x23] 100 0 100
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> A
N & 0l & Av S Z M A
20158 =& 1 3 LESIH 2JIANRE= ~ MES
2N &3S
M HH2AAH(438)

S I E= EERED
SA-EB - BAEH) - NRAY - BHES 0] &b 2 p/E-F HIDE2
&3S 229,866 229,368 498
HE 2L (A3S) 70,943 70,445 498

eI 23l 26,443 25,945 498
QA 2H 26,443 25,945 498
101 Q124 4] 26,443 25,945 498

03 RIHAZ 22 = 26,443 25,945 498
OQI3QIotY RIIAHAZ2 2 X 2l AH| 23,995 23,565 430
—Jles 1,506, 120& x1H «12& 18,074 18,003 71
— QX 56,7203 1 19 1,078 1,074 4
—ANZtZR=Y 10,6403« 1B+ 15A1 2t+12E 1,916 1,907
— S E %It 753,060 1 »22] 1,507 1,501 6
- &= 20,0002 «1H « 122 240 0 240
— M= & At 50,0003 1 »22 100 0 100
OQIAQIoHY RIIHA2ZA BEEE 2,448 2,380 68
— =0z 23,995,000 *45/1,000 1,080 1,061 19
—AHLEE 23,995,000& *30/1,000 720 684 36
— LRI QAEE 719,850% *65.5/1,000 48 45 3
— 1828 23,995,000& *15/1,000 360 354
—MHEE 23,995,000% *10/1,000 240 236 4
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